Oétovpex=1

@) f(x+2)=2x"+x-4 = f(1+2)=2-1"+1-4=(f(3)=-1

Oétovpe x=—2 2

By f(x+2)=2x"+x-4 = f(-2+2)=2:(-2)" +(-2)-4=|f(0)=2

Oétovpue x=—1

n f(x+2)=2x+x-4 = f(-1+2)=2-(-1) +(-1)-4=|f(1)=-3

Oétovpex =4

0 f(2x-3)=x?-3x-2 = f(2-4-3)=4"-3.4-2[f(5)=2

Oétovpe x=1

B) f(2x—3) X*-3x-2 = f(21 3) —3-1—2:>f(—1)=—4

Oétovpe x=5

y f(2x-3)=x*-3x-2 = f(2.5-3)=5'-3.5-2=[f(7)=8

Oétovpe x=2

f(x-1)+f(3-x)=x*+3x-4 = f(2-1)+f(3-2)=22+3-2-4=

= F(1)+(1)=4+6-4= 2 (1)=6=[f (1)=3

Oétovpe x=2

f(2x-1)+f(x+1)=x*+x+2 = f(2:2-1)+f(2+1)=2°+2+2>

= £(3)+F(3)=8=2f (3)=8=[f (3) -4




